8.2 - Primary Trig Ratios
W arma AP
Find the missing value.
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1. X=6 y=¢(2) 3. 6=2 (x=2(7)
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8 K= D)
= .5 6 _
=3
2. 4=X 4. 5=9 -
g 7 tD-x x 41 XID=1x
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T =X 9
G1=¥X
Right angled triangles ratios
. "’el“'('“ " short form
sine 6 = opposite Q-
hypotenuse oin QJ‘)E)P[’
cosine 6 = adjacent (os8 = adj
hypotenuse YP
tangent © = opposite Tam 9= OpF
adjacent - J

acronym...... SOH CAH TOA
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Trigonometric Ratios

» Each angle has a specific trigonometric ratio

ie. tan 56° = 1.4826

39
Loq
cos 50°=0.6428 4 l\<§6 Fem S 6 A

\\
*<. “These ratios will be found
using a scientific calculator

Look at these two triangles...they are similar.

Even though these triangles are
E different sizes, the ratios of their
= sides would be equal.
i 7o -
This confirms that as long as the
angles are the same measure, the
u trigonometric ratios will be the same.
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tane=2ﬁ, tan © = od
a\{} = 2
X
= X
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cos B = & cos 6 = %)
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Trigonometric Ratios
*** Must have calculator in DEGREE mode ***

sin & = %
cosf = ﬂ
HYPOTENUSE OPPOSITE hyp
Reference angle tang = 222
B - - adj
ADJACENT

"These are called the Primary Trig Ratios"

REMEMBER: "SOH CAH TOA"

Examples
1. cos 74°= . 2754

2.8n0=05 (=sn 0.5
isg sSin _._300

3. Find 6. Sin0= 00
hyp>
10 =%
8 i
Sind=0.8
0= Sin-'(0-9)

= §3°
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Examples
l cis 14° = 0.275¢C

s~ smb =05 o sihD = 05T
5 (= sin 05 5N Sin
= 30"

3 S,'V\B‘—‘f_,[l!?

g N hy
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Q= 3in 0.8
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